SCREW CLAMP WITH SCREW

207.45 Screw clamp

-\J > incl. screw
o0 h ’ — steel punched bent component

— clamping height 6 - 6,3 mm

o + — M6 screw
oo 0
© )
— ] 8,7 ——
yaa\
= Y
2072.45.10 2072.45.16 Screw clamp
‘\J incl. screw
oo h ’ 20 30 2072.45.10
* * — Steel, milled
% | - Clamping height 6 - 6,3 mm
o © * — M6 screw
* T2 2072.45.16
& H b - Steel, milled
5 | | — Clamping height 10 mm
o - M10 screw
L ~
k%/
7,5
2072.45.55.12 2072.45.55.14 Screw clamp

without screw
2072.45.55.12

) — Steel plate
*_L)i — Clamping height 6 - 6.3 mm
" - Screw M6

2072.45.55.14

9,
~
N
»

——{11,5 =
4»5’7+0,‘4
3+O4

— Steel plate
35,8 — Clamping height 10 mm
I, ¥ " 32 — Screw M10

4‘!-

o

H Y
© |- 25—

40

D300 FIBRO subject to alterations


https://www.de.shop.fibro.com/en/207-45-
https://www.de.shop.fibro.com/en/2072-45-
https://fibro.partcommunity.com/?info=fibro/normalien/a/a02/a02_00/207_45_set.prj
https://fibro.partcommunity.com/?info=fibro/normalien/d/d09/d09_11/2072-45.prj



